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SECTION A (8 Marks)
1 | Read the given text and answer the following questions- 1x2

“Every day we have to cross the river to get to school. The river is wide and deep. There
is a strong iron rope across the river. On both the sides it is tied tightly with strong trees
or rocks. There is a trolley attached with the rope.” (Source: NCERT)

a) What is a trolley? An open wooden box attached to a rope with pulley.

b) Why did children use a trolley? As children had to cross a river to reach the school.

2 | Read the given text and answer the following questions- 1x2

“The people of this village took great care of the plants, trees and animals. Goats, deer,

hares and peacocks roamed fearlessly there. They used to say, “Agar perh hain to hum

hain.” (Source: NCERT)

a) Which village is being talked about in the above lines? Khejadli Village in
Rajasthan

b) Why would the village people say- “Agar perh hain to hum hain.” ?

Plants and animals can survive without us, but we cannot survive without them as
they give us food, oxygen etc.

3 | Read the given text and answer the following questions- 1x2
“A globe is a model of earth. It is slightly tilted just like the earth. It is difficult to carry.
However, a map is a drawing of earth on a flat surface.”

a) What is a globe? A 3-D model of earth.

b) How is a map better than a globe? It can be carried easily from one place to

another.

4 | Read the given text and answer the following questions- 1x2
“Sonu told his sister that mammals have hair on the body and give birth to babies. She
asked him about some other features of the mammals.”

a) Give one example of a mammal. Human/Tiger/Lion/elephant/whale/rat

b) Write two other features of the mammals that Sonu would have told his sister.

External ears, babies feed on mother’s milk, warm-blooded

SECTION B (4 Marks)

5 | Give answer in one word- 1x2
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a) The animal species which no longer exist in the world — Extinct animals

b) A structure carrying a road or path across a river- Bridge

6 | Fill in the blanks with a suitable answer- 1x2
a) Chandigarh is the capital shared by both Punjab and Haryana.
b) The plants that grow on the land are known as the _terrestrial plants .

SECTION C (8 Marks)

7 | Give a suitable reason for the given statements- 1x4
a) India mainland is known as Indian Peninsula. As mainland is surrounded by water
on three sides
b) A cement bridge is stronger and durable as compared to a bamboo bridge. As it is
made of cement, iron/steel and bricks.
c) A bird’s ears cannot be seen. As they are tiny holes on either side of the head
covered with feathers.
d) The stem of cactus is green and fleshy. As it stores water and performs
photosynthesis.

8 | Write any two drawbacks of using a vallam. 1
a) It takes longer time to reach school.
b) Only few students can travel at one time.
c) Cost of maintenance is high.

9 | a) Identify the given animal. Elephant 1
b) Find one mistake in the given picture.
The ears of elephant are replaced with that of a mouse.

10 [ Name and mark the following in the political map of India. 1x2

a) The smallest state of India- Goa

b) The state where children use vallam to reach school- Kerala
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